

## DECOMPOSITION OF LINEAR SINGULARLY PERTURBED FUNCTIONAL DIFFERENTIAL EQUATIONS

**M. O. Perestyuk, I. M. Cherevko**

*Kyiv National Taras Shevchenko University  
Volodymyrs'ka St., 64, Kyiv, 01033, Ukraine  
e-mail: pmo@mechmat.univ.kiev.ua;  
cherevko@math.chdu.cv.ua*

*We study a system of linear singularly perturbed functional differential equations by using the method of integral manifolds. We construct a change of variables that decomposes this system into two subsystems: ordinary differential equation on the center manifold and integral equations on the stable manifold.*

**AMS Subject Classification: 34 C45, 34 D15, 34 K20**

**1.** Let  $R^n$  be the  $n$ -dimensional Euclidean space,  $C = C[-\Delta, 0]$  be the space of continuous function  $x : [-\Delta, 0] \rightarrow R^n$ . Let us denote by  $x_t$  an element of the space  $C$ , which for any fixed  $t$  is defined as the function  $x_t = x(t + \theta)$ ,  $-\Delta \leq \theta \leq 0$ .

We denote by  $\eta_0(\theta)$  an  $n \times n$  matrix whose elements are functions of bounded variation;  $\eta_i(t, \theta)$ ,  $i = \overline{1, 4}$ , are matrixes of dimention  $n \times n$ ,  $n \times m$ ,  $m \times m$ ,  $m \times n$ , whose elements are functions of bounded variation in  $\theta$  for each  $t$  and continuous in  $t$  uniformly with respect to  $\theta$ .

Define linear functionals in terms of Stieltjes integrals,

$$L_0\varphi = \int_{-\Delta}^0 [d\eta_0(\theta)]\varphi(\theta), \quad L_i(t)\varphi = \int_{-\Delta}^0 [d\eta_i(t, \theta)]\varphi(\theta), \quad i = 1, 4, \tag{1}$$

$$L_j(t)\varphi = \int_{-\Delta}^0 [d\eta_j(t, \theta)]\varphi(\varepsilon\theta), \quad j = 2, 3.$$

Consider the system of linear singularly perturbed functional differential equations

$$\frac{dx}{dt} = L_0x_t + L_1(t)x_t + L_2(t)y_t, \quad x(\theta) = \varphi(\theta), \quad \theta \in [-\Delta, 0], \tag{2}$$

$$\varepsilon \frac{dy}{dt} = L_3(t)y_t + L_4(t)x_t, \quad y(\theta) = \psi(\theta), \quad \theta \in [-\varepsilon\Delta, 0],$$

where  $x \in R^n, y \in R^m, \varepsilon > 0$  is a small parameter.

Linear singularly perturbed systems of ordinary differential equations were considered in papers [1, 2], and systems with delay were studied in [3–6] and others. In this paper we will consider application of the method of integral manifolds to study decomposition and stability system (2).

2. We give some results of the theory of functional-differential equations needed later [7, 8]. Define the shift operator corresponding to the autonomous equation

$$\frac{dx}{dt} = L_0 x_t \quad (3)$$

by the relation  $T(t)\varphi = x_t(\varphi)$ . The family  $\{T(t), t \geq 0\}$  is a strongly continuous semigroup, infinitesimal generator  $A$  is given by

$$A\varphi = \begin{cases} \frac{d\varphi}{d\theta}, & -\Delta \leq \theta < 0, \\ L_0(\varphi), & \theta = 0. \end{cases} \quad (4)$$

The spectrum of  $A$  is only a point spectrum and consists of roots of the characteristic equation

$$\det \left( \lambda E - \int_{-\Delta}^0 e^{\lambda\theta} [d\eta_0(\theta)] \right) = 0. \quad (5)$$

There is only a finite number of roots of the equation (5) in any half plane  $\operatorname{Re} \lambda \geq \gamma$ .

Let  $\Lambda = \{\lambda_1, \dots, \lambda_l\}$  denote the set of roots of equation (5) such that  $|\operatorname{Re} \lambda| < \alpha$ , and let all the other roots lie in the half plane  $\operatorname{Re} \lambda < -\alpha$ . Denote the subspace in  $C$  associated  $\Lambda$  by  $P$  and the subspace complementary to  $P$  by  $Q$ . The subspace  $P$  is finite dimensional and its dimension is equal to  $l$ .

We give a constructive description of the subspaces  $P$  and  $Q$ . Consider the equation adjoint to (3),

$$\frac{dy}{dt} = - \int_{-\Delta}^0 [d\eta_0^T(\theta)] y(t - \theta), \quad t \leq 0. \quad (6)$$

Denote by  $\Phi = \Phi(\theta)$ ,  $-\Delta \leq \theta \leq 0$ , a basis of  $P$ , and  $\Psi = \Psi(\theta)$ ,  $0 \leq \theta \leq \Delta$ , a basis of the subspace of solutions of (6),  $P^*$ , adjoint to  $P$ . For elements  $\varphi \in C[-\Delta, 0]$ ,  $\psi \in C[0, \Delta]$ , we define the scalar product by

$$(\psi, \varphi) = \psi^T(0)\varphi(0) - \int_{-\Delta}^0 \int_0^\theta \psi(\xi - \theta) d\eta_0(\theta) \varphi(\xi) d\xi.$$

It is known [7] that the  $l \times l$  matrix  $(\Psi, \Phi)$  is nonsingular and we can take that  $(\Psi, \Phi) = E$ . Let  $B$  denote an  $l \times l$  matrix such that  $A\Phi = \Phi B$ . The set of eigenvalues of the matrix  $B$  coincides with the set  $\Lambda$ .

The subspaces  $P$  and  $Q$  are characterised now by the relation

$$P = \{\varphi \in C[-\Delta, 0] : \varphi = \Phi(\Psi, \varphi)\}, \quad Q = \{\varphi \in C[-\Delta, 0] : (\Psi, \varphi) = 0\}.$$

Every element  $x_t \in C$  can be represented in the form

$$x_t = x_t^P + x_t^Q = \Phi u(t) + z_t, \quad u(t) = (\Psi, x_t) \in R^l, \quad z_t \in Q. \quad (7)$$

Define the matrices

$$X_0(\theta) = \begin{cases} 0, & -\Delta \leq \theta < 0, \\ E, & \theta = 0, \end{cases} \quad Y_0(\theta) = \begin{cases} 0, & -\varepsilon\Delta \leq \theta < 0, \\ E, & \theta = 0, \end{cases}$$

and the shift operator  $V(t, \sigma)$  for the equation

$$\varepsilon \frac{dy}{dt} = L_3(t)y_t. \quad (8)$$

For the projections  $X_0(\theta)$  into  $P$  and  $Q$ , we have the relations

$$X_0^P = \Phi\Psi^T(0), \quad X_0^Q = X_0 - X_0^P = X_0 - \Phi\Psi^T(0).$$

Changing variables (7) in system (2) and using the variation of constant formula [8] we get an equivalent system of differential and integral equations,

$$\begin{aligned} \frac{du}{dt} &= Bu(t) + \Psi^T(0)[L_1(t)(\Phi u(t) + z_t) + L_2(t)y_t], \\ z_t &= T(t - \sigma)z_\sigma + \int_\sigma^t T(t - s)X_0^Q[L_1(s)(\Phi u(s) + z_s) + L_2(s)y_s]ds, \\ y_t &= V(t, \sigma)y_\sigma + \frac{1}{\varepsilon} \int_\sigma^t V(t, s)Y_0L_4(s)(\Phi u(s) + z_s)ds. \end{aligned} \quad (9)$$

The integrals in (9), for each  $\theta$ , are understood as the integral in the Euclidean spaces  $R^n$  and  $R^m$ .

Suppose that all roots of the characteristic equation for (8),

$$\det \left( \lambda E - \int_{-\Delta}^0 e^{\lambda\theta} [d\eta_3(t, \theta)] \right) = 0,$$

lie in the half plane  $\text{Re } \lambda \leq -2\mu < 0$ .

This condition and the way the roots of equation (5) are partitioned give the following estimates [7, 8]:

$$\begin{aligned}
 |e^{Bt}| &\leq K_1 e^{(\alpha-\beta)|t|}, \\
 |T(t)\varphi^P| &\leq K_2 e^{(-\alpha+\beta)t} |\varphi^P|, \quad t \leq 0, \\
 |T(t)\varphi^Q| &\leq K_2 e^{-(\alpha+\beta)t} |\varphi^Q|, \quad t \geq 0, \\
 |V(t, \sigma)\xi| &\leq K_3 e^{-\frac{\mu}{\varepsilon}(t-\sigma)} |\xi|, \quad t \geq \sigma,
 \end{aligned} \tag{10}$$

where  $K_1, K_2, K_3 > 0$ ,  $\alpha > \beta > 0$ ,  $\varphi \in C[-\Delta, 0]$ ,  $\xi \in C[-\varepsilon\Delta, 0]$ .

**3. Definition.** A set of points  $M \subset R \times R^l \times Q \times C[-\varepsilon\Delta, 0]$  is said to be an integral manifold of system (9) if for each  $\varepsilon \in (0, \varepsilon_0]$  and any point  $(t_0, u_0, z_{t_0}, y_{t_0}) \in M$  it follows that  $(t, u(t), z_t, y_t) \in M$  for all  $t \geq t_0$ , where  $(u(t), z_t, y_t)$  is a solution of system (9) with initial values  $(t_0, u_0, z_{t_0}, y_{t_0})$ .

**Theorem 1.** Let estimates (10) hold and

$$|L_1(t)\varphi| \leq \nu|\varphi|, \quad |L_2(t)\varphi| \leq \nu|\varphi|, \quad |L_4(t)\varphi| \leq \nu|\varphi|, \quad \nu > 0. \tag{11}$$

Then for all sufficiently small  $\varepsilon, \nu$ , system (9) has a central manifold represented in the form

$$z_t = H_t(\theta)u, \quad y_t = h_t(\theta)u,$$

where  $H_t(\theta) : R^l \rightarrow Q$ ,  $h_t(\theta) : R^l \rightarrow C[-\varepsilon\Delta, 0]$  are linear bounded operators.

It is not difficult to prove this theorem similarly to [4] using the iteration process

$$H_t^0 = 0, \quad H_t^{n+1} = \int_{-\infty}^t T(t-s)X_0^Q [L_1(s)(\Phi + H_s^n) + L_2(s)h_s^n] U_n(s, t) ds,$$

$$h_t^0 = 0, \quad h_t^{n+1} = \frac{1}{\varepsilon} \int_{-\infty}^t V(t, s)Y_0 L_4(s)(\Phi + H_s^n) U_n(s, t) ds, \quad n = 0, 1, \dots,$$

where  $U_n(t, s)$  is the fundamental matrix of the equation

$$\frac{du}{dt} = [B + \Psi^T(0)(L_1(t)(\Phi + H_t^n) + L_2(t)h_t^n)]u(t).$$

Let us find differential equations for the functions  $H_t, h_t$ . Introduce the following notation:  $W$  is a set of continuously differentiable functions  $\varphi \in C[-\varepsilon\Delta, 0]$ ;  $E_1$  is a set of functions

$H_t : R^l \rightarrow C[-\Delta, 0]$ ,  $E_2$  is a set of functions  $h_t : R^l \rightarrow C[-\varepsilon\Delta, 0]$  that are continuously differentiable in  $t, \theta$ . For  $\varphi \in W$ , we define the operator

$$D(\varepsilon)\varphi = \begin{cases} \frac{d\varphi}{d\theta}, & -\varepsilon\Delta \leq \theta < 0, \\ \frac{1}{\varepsilon}L_3(t)\varphi, & \theta = 0. \end{cases}$$

Consider the following system for the functions  $H_t \in E_1, h_t \in E_2$ :

$$\begin{aligned} & \frac{\partial H_t}{\partial t}u + H_t[B + \Psi^T(0)(L_1(t)(\Phi + H_t) + L_2(t)h_t)]u \\ &= A(H_tu) + X_0^Q[L_1(t)(\Phi + H_t) + L_2(t)h_t]u, \quad \theta \in [-\Delta, 0], \end{aligned} \tag{12}$$

$$\begin{aligned} & \frac{\partial h_t}{\partial t}u + h_t[B + \Psi^T(0)(L_1(t)(\Phi + H_t) + L_2(t)h_t)]u \\ &= D(\varepsilon)(h_tu) + \frac{1}{\varepsilon}Y_0L_4(t)(\Phi + H_t)u, \quad \theta \in [-\varepsilon\Delta, 0], \end{aligned}$$

where  $u(t)$  is a solution of the Cauchy problem

$$\frac{du}{dt} = [B + \Psi^T(0)(L_1(t)(\Phi + H_t) + L_2(t)h_t)]u(t), \tag{13}$$

$$u(\sigma) = u_0.$$

**Theorem 2.** *The functions  $H_t, h_t$  determine a central manifold of system (9) if and only if  $H_t \in E_1, h_t \in E_2$ , and they satisfy system (12) for all  $t \in R, u_0 \in R^l$ .*

**Proof.** Let  $u(t)$  be a solution of the Cauchy problem (13). Then the functions  $z_t = H_tu, y_t = h_tu$  are solutions of the second and third equations of system (9),

$$\begin{aligned} H_tu(t) &= T(t - \sigma)H_\sigma u_0 + \int_\sigma^t T(t - s)X_0^Q[L_1(s)(\Phi + H_s) \\ &+ L_2(s)h_s]u(s)ds, \quad \theta \in [-\Delta, 0], \end{aligned} \tag{14}$$

$$h_tu(t) = V(t, \sigma)h_\sigma u_0 + \frac{1}{\varepsilon} \int_\sigma^t V(t, s)Y_0L_4(s)(\Phi + H_s)u(s)ds, \quad \theta \in [-\varepsilon\Delta, 0].$$

Differentiating the first equation of system (14) on the right with respect to  $t$  at  $t = \sigma$  for fixed  $\theta \in [-\Delta, 0]$ . For the derivate of the left-hand side, we obtain

$$\left. \frac{d}{dt}[H_tu(t)] \right|_{t=\sigma} = \frac{\partial H_\sigma}{\partial t}u_0 + H_\sigma[B + \Psi^T(0)(L_1(\sigma)(\Phi + H_\sigma) + L_2(\sigma)h_\sigma)]u_0. \tag{15}$$

Denote by  $X(t)$  the fundamental matrix of solutions of equation (3) such that  $X(t) = X_0(t)$ ,  $t \in [-\Delta, 0]$ . Let us now make use of the relation  $T(t)X_0 = X(t + \theta)$ ,  $-\Delta \leq \theta \leq 0$ . We have that the function  $T(t)X_0^Q = T(t)[X_0 - \Phi\Psi^T(0)]$  is continuous for  $t \geq 0$ . It follows that

$$\begin{aligned} \lim_{t \rightarrow 0} \frac{1}{t} \int_{\sigma}^{\sigma+t} T(t + \sigma - s) X_0^Q [L_1(s)(\Phi + H_s) + L_2(s)h_s] u(s) ds \\ = X_0^Q [L_1(\sigma)(\Phi + H_{\sigma}) + L_2(\sigma)h_{\sigma}] u_0. \end{aligned} \quad (16)$$

Then, by the definition of the operator  $T(t)$ , for the right derivative of the first term in right-hand side of the equation, we get

$$\left. \frac{d}{dt} [T(t - \sigma)H_{\sigma}u_0] \right|_{t=\sigma} = A(H_{\sigma}u_0). \quad (17)$$

It follows from (15)–(17) that the functions  $H_t u$ ,  $h_t u$  satisfy the first equation of system (14) for  $t = \sigma$ ,  $u = u_0$  and all  $\theta \in [-\Delta, 0]$ . Analogously, we proved that these functions satisfy the second equation of system (14) for all  $\theta \in [-\varepsilon\Delta, 0]$ .

Conversely, let a pair of functions  $(H_t, h_t)$  be a solution of system (12). We must prove that the functions  $H_t u$ ,  $h_t u$  satisfy the second and the third equations of system (9).

Consider the expression

$$\Omega = H_t u - T(t - \sigma)H_{\sigma}u_0 - \int_{\sigma}^t T(t - s) X_0^Q [L_1(s)(\Phi + H_s) + L_2(s)h_s] u(s) ds. \quad (18)$$

If  $\varphi : [\sigma, \infty) \rightarrow C[-\Delta, 0]$  is a continuously differentiable function, then for  $t \geq \sigma$ ,  $\theta \in [-\Delta, 0]$ , the following equality holds [9]:

$$\varphi(t) - T(t - \sigma)\varphi(\sigma) = \int_{\sigma}^t T(t - s) \left[ \frac{d\varphi(s)}{ds} - A\varphi(s) \right] ds. \quad (19)$$

Using formula (19) with  $\varphi(t) = H_t u(t)$  we can write expression (18) in the form

$$\begin{aligned} \Omega = \int_{\sigma}^t T(t - s) \left[ \frac{d}{ds} (H_{\sigma}u(s)) - A(H_s u(s)) \right. \\ \left. - X_0^Q (L_1(s)(\Phi + H_s) + L_2(s)h_s) u(s) \right] ds. \end{aligned}$$

From the first equation of system (12), we have that  $\Omega = 0$ . Thus, the functions  $H_t u$ ,  $h_t u$  satisfy the second equation of system (9). Similarly, it can be proved that these functions satisfy the third equation of system (9). This completes the proof of the Theorem 2.

4. Let us change the variables in system (9),

$$\bar{z}_t = z_t - H_t u, \quad \bar{y}_t = y_t - h_t u. \tag{20}$$

Using the formulas

$$H_t u - T(t - \sigma) H_\sigma u_0 = \int_\sigma^t T(t - s) \left[ \frac{d}{ds} (H_s u(s)) - A(H_s u(s)) \right] ds,$$

$$h_t u - V(t, \sigma) h_\sigma u_0 = \int_\sigma^t V(t, s) \left[ \frac{d}{ds} (h_s u(s)) - D(\varepsilon)(h_s u(s)) \right] ds$$

and equation (12), we get the following system for the new variables,

$$\begin{aligned} \frac{du}{dt} &= [B + \Psi^T(0)(L_1(t)H_t + L_2(t)h_t)]u(t) + \Psi^T(0)[L_1(t)\bar{z}_t + L_2(t)\bar{y}_t], \\ \bar{z}_t &= T(t - \sigma)\bar{z}_\sigma + \int_\sigma^t T(t - s)[(X_0^Q - H_\sigma\Psi^T(0))(L_1(s)\bar{z}_s + L_2(s)\bar{y}_s)]ds, \end{aligned} \tag{21}$$

$$\bar{y}_t = V(t, \sigma)\bar{y}_\sigma + \frac{1}{\varepsilon} \int_\sigma^t V(t, s)[Y_0 L_4(s)\bar{z}_s - \varepsilon h_s \Psi^T(0)(L_1(s)\bar{z}_s + L_2(s)\bar{y}_s)]ds.$$

**Theorem 3.** *Let estimates (10) and condition (11) of Theorem 1 hold. Then for all sufficiently small  $\varepsilon, \nu$ , system (21) has a stable manifold represented in the form*

$$u(t) = G(t, \bar{z}_t, \bar{y}_t), \tag{22}$$

where  $G : R \times Q \times C[-\varepsilon\Delta, 0] \rightarrow R^l$  is a linear bounded operator.

To prove this statement we can follow the scheme of [10] used to prove the existence of stable manifold for ordinary differential equations.

Consider the system of integral equations,

$$u(t) = - \int_t^\infty U(t, s)\Psi^T(0)[L_1(s)\bar{z}_s + L_2(s)\bar{y}_s]ds,$$

$$\bar{z}_t = T(t - \sigma)\bar{z}_\sigma + \int_\sigma^t T(t - s)[(X_0^Q - H_s\Psi^T(0))(L_1(s)\bar{z}_s + L_2(s)\bar{y}_s)]ds, \tag{23}$$

$$\bar{y}_t = V(t, \sigma)\bar{y}_\sigma + \frac{1}{\varepsilon} \int_\sigma^t V(t, s)[Y_0 L_4(s)\bar{z}_s - \varepsilon h_s \Psi^T(0)(L_1(s)\bar{z}_s + L_2(s)\bar{y}_s)]ds.$$

It is not difficult to establish the existence of solution of system (23) using the method of successive approximations. Substituting  $t = \sigma$  in (23), we obtain a representation of the integral manifold

$$u = G(\sigma, \bar{z}_\sigma, \bar{y}_\sigma) = - \int_{\sigma}^{\infty} U(\sigma, s) \Psi^T(0) [L_1(s) \bar{z}_s(\sigma, \bar{z}_\sigma) + L_2(s) \bar{y}_s(\sigma, \bar{y}_\sigma)] ds, \quad (24)$$

where the functions  $\bar{z}_t(\sigma, \bar{z}_\sigma)$ ,  $\bar{y}_t(\sigma, \bar{y}_\sigma)$  satisfy the second and the third equations of system (23).

**Remark.** For any solution  $(u(t), \bar{z}_t, \bar{y}_t)$  of system (21) belonging to stable manifold (22) there exist the constants  $M > 0$ ,  $0 < \delta < \alpha$  such that we have the estimate

$$|u(t)| + |\bar{z}_t| + |\bar{y}_t| \leq M e^{-\delta(t-\sigma)} (|u_0| + |\bar{z}_\sigma| + |\bar{y}_\sigma|), \quad t \geq \sigma. \quad (25)$$

Changing variables in (21),

$$\bar{u} = u - G(t, \bar{z}_t, \bar{y}_t). \quad (26)$$

We get the following system:

$$\begin{aligned} \frac{d\bar{u}}{dt} &= [B + \Psi^T(0)(L_1(t)H_t + L_2(t)h_t)]\bar{u}(t), \\ \bar{z}_t &= T(t-\sigma)\bar{z}_\sigma + \int_0^t T(t-s)[(X_0^Q - H_\sigma \Psi^T(0))(L_1(s)\bar{z}_s + L_2(s)\bar{y}_s)] ds, \\ \bar{y}_t &= V(t, \sigma)\bar{y}_\sigma + \frac{1}{\varepsilon} \int_0^t V(t,s)[Y_0 L_4(s)\bar{z}_s - \varepsilon h_s \Psi^T(0)(L_1(s)\bar{z}_s + L_2(s)\bar{y}_s)] ds. \end{aligned} \quad (27)$$

System (27) consists of ordinary differential equation on a central manifold and integral equations on a stable manifold. Relations between systems (9) and (27) are given by the following:

$$u = \bar{u} + G(t, \bar{z}_t, \bar{y}_t), \quad z_t = \bar{z}_t + H_t u, \quad y_t = \bar{y}_t + h_t u. \quad (28)$$

The solution of system (21) on the stable manifold is governed by the functions  $(G(t, \bar{z}_t, \bar{y}_t), \bar{z}_t, \bar{y}_t)$  and, for this solution, inequality (25) holds. Then with transformation (28) we obtain a reduction principle for system (9).

**Theorem 4.** *Let estimates (10) and condition (11) hold. Then for all sufficiently small  $\varepsilon, \nu$ , system (9) by means of transformation (28) reduces to the form (27). The zero solution of system (9) is stable (asymptotically stable, unstable) if and only if stable (asymptotically stable, unstable) is the zero solution of the system*

$$\frac{d\bar{u}}{dt} = [B + \Psi^T(0)(L_1(t)H_t + L_2(t)h_t)]\bar{u}(t) \quad (29)$$

on the central manifold.

Theorem 4 allows to reduce the study of stability of the initial singularly perturbed differential-functional system (9) to an analysis of system of ordinary differential equations (29) which is regular and has no lag in the argument.

### REFERENCES

1. *Baris Ya.S. and Fodchuk V.I.* "An investigation of the bounded solutions of linear irregularly perturbed systems by the method of integral manifolds," *Ukr. Mat. Zh.*, **22**, No. 1, 3–11 (1970).
2. *Sobolev V.A.* "Decomposition of linear singularly perturbed systems," *Acta Math. hung.*, **49**, No. 3-4, 365–376 (1987).
3. *Halany A.* "An invariant surface for some linear singularly perturbed systems with time lag," *J. Different. Equat.*, **2**, No. 1, 33–46 (1966).
4. *Fodchuk V.I. and Cherevko I.M.* "On the theory of the integral manifolds for singularly perturbed differential-difference equations," *Ukr. Mat. Zh.*, **34**, No. 6, 725–731 (1982).
5. *Cherevko I.M.* "Decomposition of linear singularly perturbed differential-difference systems," *Dop. Nats. Akad. Nauk Ukr.*, No. 6, 42–45 (1997).
6. *Fodchuk V.I. and Klevchuk I.I.* "Decomposition of linear singularly perturbed functional differential systems," *Dop. Akad. Nauk USSR, Ser. A*, No. 8, 23–26 (1986).
7. *Hale J.K.* "Linear functional-differential equations with constant coefficients," *Contr. Different. Equat.*, No. 2, 291–319 (1963).
8. *Hale J.K.* *The Theory of Functional Differential Equations* [in Russian], Mir, Moscow (1984).
9. *Strygin V.V. and Fridman E.M.* "Asymptotic of integral manifolds of singularly perturbed systems of differential equations with time lag" [in Russian], *Math. Nachr.*, **117**, 83–109 (1984).
10. *Pliss V.A.* *Integral Manifolds of the Periodic Systems of Differential Equations* [in Russian], Nauka, Moscow (1977).

*Received 23.01.2001*